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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - SUMMER 2017

Subject Code:3351905 Date: - 15-05-2017
Subject Name:ESTIMATING COSTING & CONTRACTING
Time:150 MINUTE Total Marks: 70

Instructions: 2.30 PM TO 5.00PM

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only scientific calculator is permitted.

English version is authentic.
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Q.1  Answer any seven out of ten. e2uHiell SlEURL Alcloll Sellol UYL 14
. State the conditions of contract.

. 52AR ofl 2RcAl Aull.

. State different elements of cost.

 USAR (Bt ot QY uesl dul.

. Define (a) Economic Batvh Quantity,(b) Obsolescences
caglal () S5lelll®s A sAZEL( b) auriat Betdl

. Define (a) Direct Material Cost,( b) Direct Labour Cost
¥, aRldl (W) slarse Hallad slke,(ol) slaRse AuR Sl
5. Write merits and demerits of contract.

U, $AR oll SLAEL ol AR SLAEL AW

6. Explain in short the objectives of cost estimation.
5.8le WRINEL oll sl g5 HI QA

7. Show in Break Even Chart the effect of decreased sales revenue.
9. AR A all Yalslell Qs Salol WE UR AR sl
8. State the limitations of Break Even Chart.

¢. Qs Sclot Aol HATERD AW,

9. State the factors affecting arc Welding cost.

c.ulls Acslol slke ol AR sdluR ool .Ul

10.State pattern allowances.

10.020l WAGA M QU

Q.2 (a) Differentiate between estimating and costing. 04
ARIAZL U 5REL AR el cdAsleld AWl
OR
(a) Discuss the metal joints in brief.Aed e ¢s i agldl

AP w2



(b) A m/c was purchased at Rs.3000/,the transportation and installation charges are Rs.400/ and
Rs.600/ respectively. Useful life is 8 years ,scrap value is 300.find the rate of depreaciations

per year by straight line method. 05

AUAA 32l UR ol Receol Nus A allls vl ol €2 Al Hallot ol Wle (BHct 3.3000

2lrllR22let U FRAUA 5H2:3.¥00 Aol 3.500,H2ot of AlSs ¢ i elour oll (Eud
3.300 ®.
OR
('b) Determine the numbers of rivets can be produced from 4.5 Kg of M.S. ,Density of M.S is
7.8 gm/cc Dimensions of rivets ;shank dia 2.45 cm, length of shank :3.5 cm, There are two
semi spherical head at both end of shank dia 40 mm
¥.U SLaL ot M.S Higl ¥ Roll tatcll 7.8 gm/ce B,Aul &l vlatcl 3lAe ofl v 0.

Adeall MU At drdousk &s i ¥o Hll,As caut 2.3u Al Aol clettes 3.4 Al

(c) A square bar of 5 mm side and 40 cm length is to be converted by hand forging in to a bar of

hexagonal section having each side equal to 3 mm calculate the length of hexagonalbar
produced. 05

5 mm side and 40 cm length cllow ARU Aollall A Fo5 ATot yslaw ad 3l ues

atol W2 slella As2ol Gk Ui Fadl Ml AUA B ,dl W5l As2lot ofl dolles 0.
OR
(¢) Estimate the m/c time to turn a M.S. bar of 4 cm diameter down to 3 cm diameter for a
Length of 10 cm in single cut. Assume cutting speed 30 m/min and feed 0.4 mm/rev.

WA del uR Ul ¥ Al cau at, 10 AL ctiott A1 A, qoflaw A As o se Ul
3 Al Hi ctettatall Hollot 2188H AN 53, cutting speed 30 m/min and feed 0.4 mm/rev

Q.3 (a) Explain tender form and Security bond in brief

352 Sl ual AR olls [@QN &5 Hi aglal 03
OR
(a) Explain various accounting terminology. (Q(Au As1Gedlol 2l celcl.
(b) Write the procedure of estimating cost of power plant by diesel generating set. 03
et %ot22lo0l A2 GlRL AL UlR wetie ol Slke WAL ysla Al

OR

(b) Athermal power plant is satisfying max. demand of 70 MW.Load factor is 45% ,estimate
power cost per unit if, intrest and depreciation is 10% of capital cost,operating cost is
Rs. 1.90 per unit and capital invested is Rs. 1800/MW

A 32t uR Al i weR wice ofl Wwer sike /Yslle AR $A. e uaR wice
HeTH Acdl™eols Hiol 90 Nl cle 8. Load factor is 45% ,calle ol ddlA Uled sle

alla0% el AUNUREe0L 5lke Rs. 1.90 per unit Aal 3Uled Asl@L Rs. 1800/MW 8.

(c) A two meter long M.S.plate has a 10 mm thickness to be weld by a lap joint with arc welding.
Find the welding cost from following data. Welding speed 20m/hr, Labour Rs.30/hr
power charges Rs.25/hr,electrode consumption 0.2 Kg/meter of weld ,cost of electrode
Rs.100/Kg.Fatigue allowances10% 04

WA 32l UR ol A A1 AU A2 ¥ Boll astes 10 HIHl B, Al AU Ui Ul ud Acslot
ysglal o lsal Ul adl Aot slke 0. Welding speed 20m/hr, Labour Rs.30/hr



power charges Rs.25/hr,electrode consumption 0.2 Kg/meter of weld ,cost of electrode
Rs.100/Kg.Fatigue allowances10%
OR
(c) List Factors to be considerd in the preparation of specification.

02051326t cletladdl dua trllet Hi Acllcdl WRool s.uLdl.

(d) Explain following term o{l2atl WEl Ml

Feed, Approach, Depth of cut, Over travel
OR
(d) Explain following term : Security deposit,  Deed

UEl uuxcl.  Security deposit,  Deed

Q.4 (a) How will u estimate machine time in case of planning operation.state equation.

WQollol 20uRelst M2 A AN usla 565 A s2032 Al
OR
(a) How will u estimate machine time in case of shaping operation.state equation
Aulol A uR2Aet 2 A AREAE0L ysla 565 I 5203y Al
(b) List modern tools and techniques of cost reduction
slee g5t ol AYEs e Wl 250lls AL,

OR
(b) State the cost elements in Ice Plant

WESU wlie Wl USAR Brd ot uesl el

(c) A 40 x 8cm C.l.surface to be faced on a milling machine with a cutter having 10 cm
diameter and 16 teeth. If the cutting speed and feed are 50 m/min and 5 cm/min
respectively then determine the milling time , RPM of cutter and and feed per tooth.

WAA 32t uR ol Aot atgfu.s22 olt RPM dal 8ls UR g& 2t

OR
(c) Explain the effect of various parameters on break even point

Qs clol W2 UR WU 5cll URGAN AHostAl.
Q.5 (a) Estimate the time required to drill 4 holes in C.I.Flange from the following data.
Hole length 20 mm,hole dia 12 mm, cutting speed 15mm/min and feed 0.2 mm/rev
slRe Aol ofl SA% HL 0¥ SR ULsSall H2 oll AHA WA stal ol cdoues 20 Hlal,

el ol cautt 12 {1l ,sdlot alls au {lll/AlRe ua gls 0.2 il /Ayt 8.
(b) Define Net Weight, Shape Weight ,Gross Weight, Tong loss

duldl Az Agfe, AU Agfe o Az 2ol L (AlaL)
(c) State six objectives of Budget

P2 oll SlE UQL & S AUl
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